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1. Poan AUCHHUITJINHBI «l'[pod;eccuona.m,ﬂaﬂ NMOJArOTOBKA HA AHIJIMHCKOM SI3BIKE» B cl)opanOBamm KOMIIe Te HIMH BBIITYCKHHUKA:

. CocTaBiasiiomue pe3yjabTaTOB 0CBOEHHs (1€ CKPUNTOPBI
i1 MeHT 06pa30 BaTeTHHOI Kox MHankaTopsl 10 CTHAKE HASI KOMIIE Te HIMii T,
nporpaMMsl (aucouminHa, | Cemecrp | xomnetenmuu | HanmeHoBaHue KoMIle Te HIMH K H
o anMe HOBaHHE MHIHKATOPA
npakTuka, F'HA) A B p Kon Haume HOBaHMe
HHANKATOpa J10 CTH:KE HUSI
Brageet oneITOM CTPYKTYpHpOBAaHHA U
0(hOPMIICHUS YCTHOTO COOOILEHHS HA
VK(Y)-4.6B1 | °boP y . :
[P e3eHTalNH J0KIIA/[a Ha PO (HEeCCHOHAIBHYIO
JleMoHCTpHpYyeT C110COOHOCTH TeMY Ha HHOCTPAHHOM SI3bIKE
BBICTYTIATh C JIOKJIAZIOM Ha YMeeT JOTUYHO, TOCIEI0BaTEIbHO U
HWHOCTPAHHOM A3BIKC HA ApTyYMEHTHUPOBAHO BbIPpa’kaTh MbBICJIM HA
WYK(Y)-4.6 P VK(Y)-4.6Y1 | @prymentip P
Ipo (ecCHOHAIBHYIO TEMY, OTBEYaTh HMHOCTPAHHOM 513bIKE Ha NP0 (heCCHOHATBHY 10
Ha BOIIPOCEHI, MOAACPKUBATH TEMY, ICJIATh BBIBO Ibl
JICKY CCUIO 3HaeT 0CHOBBI CTPYKTYPHPOBAHUS IOKIIA A U
CrnocoOeH 0CyIeCTBISTh Y PYKTYpHD 5 a
I10/ITOTOBKY TP E3EHTAIMH Ha THOCTPAaHHOM
I1 ACTOBYIO KOMMY HHKAIHIO B YK(Y)-4.631 SI3bIKE, IPUHATHIX B HAY THOM MEXKIy HApO JHOH
pode ccHoHANbHast 5678 VK(Y)-4 YCTHO# U UChbMEHHO hopmax c eae, p Y P
TOATOTOBKA HA e Harocy/1apCTBEHHOM SI3bIKE D
AHIJIMICKOM sI3bIKe Lo Brageet onbITOM HCTIO/IB30 BaHKS HHOSI3BIYHBIC
Poccuiickoii dencpatuu i JIEKCUKO-I'PaMMAaTHYCCKUX CT; u
HWHOCTPaHHOM(-bIX) sI3bIKe(-ax) YK(VY)-4.7B1 P PYKIYP |
po (hecCHOHATBLHO-OpUCHTPO BAHHON
JleMOHCTpHPYET CIOCOOHOCTH
TCPMHUHOJIOTUN
KOPPEKTHOTO UCTIOJIb30BAHHS
YMeeT KOppEKTHO UCTIONIb30BATh HHOSBIYHbIC
JIEKCUKO-T'PaMMaTH4eCKHX CT; u
N.YK(Y)-4.7 p PYKIyD JIEKCHKO-T'PaMMaTHIECKHE CTPYKTYPbI X
npodeccroHaipHo-opueHTHpoBanHyo | YK(Y)-4.7Y1
. po (hecCHOHATLHO- OPUEHTUPO BAHHYIO
TEPMHHOJIOTHIO B CBOEH
. TEPMHUHOJIOTHIO
po(ecCHOHATIBHOM eSTENbHOCTH
3HaeT 0a30BY 0 JIGKCHKY 1 IIPO(ECCHOHATBHO-
YK(V)-4.631 OPHUCHTUPOBAHHYIO TEPMUHOJIOTHIO Ha
WHOCTPAHHOM SI3bIKE

2. Iloka3areju n ME€TO/JbI OICHUBAHUS

Il;nanupyeMble pe3yabTaThl 00yde HUSI O JHCIHILIHHE

Koa nnnnkaropa

Haume HoBaHUe pasaejaa TUCHUILTHHbI

MeToabl 01le HUBAHUS

Konx HaunMe HoBaHHe 0 CTHIKe HUSI (oe HOYHBbIE Me PONPHUATHS)
KOHT POJI MpyeMoii
KOMIIe Te HI[HH
(W1H ee YacTH)
PA-1 OCyIIECTBIATH KOMMY HUKalIMY HA HHOCTPAHHOM $I3bIKE B TIPO (heCCHOHATHHOM Paznen 1. OcHOBBI JIEKTPOHUKH (5 cemMecTp) IIpeseHTanus
chepe Paznen 2. IIpuMeHeHHEe ONepallHOHHBIX yCHINTENEH PaboTa B MaJIbIX rpynmax
(6 cemecTtp)
MLYK(Y)-4.6 Paznen 3. Lludposas anekrpoHnKa
LYK(Y)-4.7 - SAop P
(7 cemectp)
Paznen 4. Memnuuckoe 000pyi0BaHue
(8 cemecTp)
PAO-2 Pemats npodeccroHaTbHbIE 3a1a41 HA HHOCTPAHHOM SI3bIKE Pasnen 1. OcHOBBI 37IeKTPOHUKH (5 cemecTp) T ecTupoBanue
H.YK(Y)-4.6 Pasnen 2. [IpumeHeHne onepauuoHHBIX yCHIMTENEH Koutponsnas paGota
WYR(Y)-4.7 (6 cemectp) Pa6oTa B MaJbIX rpymmax




Pazpen 3. Llupposas 37eKTpOHUKA
(7 cemectp)
Pasnen 4. MemunuHckoe 060py1oBaHNE
(8 cemecTp)

Pa-3 [Ipe3eHTOBaTH U 3aLMILATH PE3YJIbTAThI KOMITIEKCHO i MHXKEHEPHOU
JIeSTENbHOCTH HA HHOCTPAHHOM SI3bIKE

NYK(Y)-4.6
WYK(Y)-4.7

Paszpmen 1. OcHOBBI 7IeKTpOHHKH (5 cemecTp)
Paspen 2. [IpuMeHeHHe OTIEPAIHOHHBIX yCHIUTENCH
(6 cemecTp)

Paszzen 3. Lndposas 3aeKTpoHNKa
(7 cemectp)

Paznen 4. Memuunckoe 000pyi0BaHue
(8 cemecTp)

IIpesenTanus

3. HIxkajaa oueHNBaHUA

[Topsinok opraHu3alUM OLICHUBAHUS PE3yJIbTaTOB OOYYEHHs B YHMBEPCUTETE PEIVIAMEHTUPYETCS OTIEJIbHBIM JIOKAJIbHBIM HOPMAaTHBHBIM aKTOM —
«CucremMa olleHUBaHUS Pe3yIbTaToB 00ydyeHUs] B TOMCKOM mojuTexHuyeckoM yHupepcutere (CucreMa oleHuBaHus)» (B AEHCTBYIOIEH pelaKiuu ).
Hcnonb3yercs OaulbHO-PEHTUHIOBAs CHCTEMa OLIGHMBAHUS pe3yiabTaToB oOyueHHs. MroroBas oueHka (TpaiMLMOHHAs M JUTEpHas) 110 BUIAM
yueOHOU nesrenbHOCTH (u3ydeHue nucuumniand, YWPC, HUPC, kypcoBoe NpOeKTHpOBaHHE, MPAKTHKH) OIpeleNseTcs CyMMOM OalioB IO

pe3yabTaTaM TEKYIIETO KOHTPOJIS U MPOMEXKYTOUHOU aTTecTaluu (MTOToBasi pEHTUHTOBAS OIleHKa - MakcumyMm 100 GamioB).

Pacnipenenenrie OCHOBHBIX M JIOMOJHUTENBHBIX Oa/UIOB 3a OLIEHOYHBIE MEPONPUATHS TEKYLEro KOHTPOJII M MPOMEXKYTOYHOW aTTeCTalluH
YCTaHABJIMBAETCS KaJICHJAPHBIM PEUTHHT-IIJIAHOM JUCHUTIINHBI.

PCKOMCHIIyeMaSI mKajia 11 OTACIIbHBIX OILICHOYHBIX MepOHpI/IHTI/Iﬁ BXOJHOI'O U TCKYHICTO KOHTPOJIA

00y4e Hust

% BBINOJIHE HUSI CooTBeTcTBHE
o OmnpeneseHne oueHKH
3a1aHUsA TPpaaAHIHMOHHOHA OII¢ HKE

90%-+100% «OtmaHOY» OmmyHOe MOHMMaHHe IpeMeTa, BCECTOPOHHUE 3HAHUS, OTIIMYHBIE YMEHUS U BIaICHUE OIBITOM IMPAKTHIECKON JeSTEIHHOCTH,
HeoOXoMMBIE pe3yJbTaThl 00yueHHs CHOPMUPOBAHBI, UX KAUE€CTBO OLIEHEHO KOJIMYECTBOM 0ajyioB, OJM3KMM K MAKCUMaJbHOMY

70% - 89% «Xopo1o» JlocTaToYHO MOJIHOE MOHMMAHUE MPeMETa, XOPOIINe 3HaHHS, YMEHHUS U OMBIT IPAKTHIECKON NeATeIbHOCTH, HEOOXOMUMBIC Pe3yIbTaTh
00y4eHns chOpMHUPOBAHBL, KAUECTBO HU OJHOTO M3 HUX HE OIIEHEHO MUHHUMAJBHBIM KOJMYECTBOM 0asioB

55% - 69% «Y IOBIL» IIpuemnemMoe moOHUMaHNUE NpeMETa, yI0BICTBOPUTENIbHbIE 3HAHUS, YMEHHS U OIBIT IPAKTUUECKOH NeATebHOCTH, HEOOXOAMMBIE PEe3yIbTaThl
00yueHus copMHUPOBaHBI, KAYECTBO HEKOTOPBIX U3 HUX OLIEHEHO MHUHUMAJBHBIM KOJIUUECTBOM 0aioB

0% - 54% «Heynosmy» PesynbTaThl 00y4eHUs HE COOTBETCTBYKOT MUHHUMAIILHO JJOCTATOYHBIM TPEOOBAHUSM

lkana 15t OLEHOYHBIX MEPOIIPUATHIA U T depeHIMPOBAHHOTO 3a4UeTa / 3a4eTa
CreneHn
cc¢ opMupoBaHHOCT) CooTBeTcTBHE
Bana . OnpeneseHue oue HKU
pe3yJabTaToB TpajiuLMOHHOM OLie HKe




90% + 100% 90 + 100 «O1TmuHO» OmmyHOe MOHMMAaHUE IPEAMETa, BCECTOPOHHME 3HAHMS, OTIMYHbIE YMEHUSA U BIAJCHUE ONBITOM IPAKTUUECKOU NEATEIbHOCTH,
HEOOXOAMMBIE Pe3yJIbTaThl 00ydeHHs chOpPMHUPOBAHEL, HX KAYECTBO OICHEHO KOJMYSCTBOM 0ayioB, OJM3KAM K MAaKCHMAILHOMY

70% + 89% 70 =89 «Xopo1io» JlocTtatouHO MOJHOE TOHUMAaHHKE IPeMETa, XOPOUINE 3HAHUS, YMEHHUS M OTBIT IPAKTHUECKOM JNeITeIbHOCTH, HEO0OX0MMBbIE
pe3ysbTaTel 00y4eHns chOPMUPOBAHBI, KAYECTBO HH OJJHOTO M3 HHUX HE OI[CHEHO MUHMMAaJBHBIM KOJIMYECTBOM 0alioB

55% +69% 55 +69 «Y IOBIL» IpuemieMmoe MOHNMaHNUE IPEMETa, yIOBICTBOPUTENBHBIC 3HAHUS, YMEHHS U OTIBIT IIPAKTHIECKOH NeITeIbHOCTH, HEOOX0aMMBIe
pe3ysbTaTel 00ydeHns chOPMUPOBAHBI, KAYECTBO HEKOTOPHIX M3 HUX OIIEHEHO MUHUMAIBHBIM KOJIMYECTBOM 0aiuioB

55% +100% 55 =100 «3a4TeHO» Pe3ynpTaTl 00yUeHUs COOTBETCTBYIOT MUHHMAJBHO JOCTATOUHBIM TpeOOBaHUSIM

0% =+ 54% 0+54 «Heynosmy/ PesynbTaThl 00y4YeHUS HE COOTBETCTBYIOT MHHUMAJIBHO JIOCTATOYHBIM TPEOOBAHHUIM

«He 3auteno»

4. IlepevyeHb THNIOBBIX 3aJaHUM

OneHoYHbIEe Meponpus THsI

IIpumepbl TUNOBBIX KOHTPOJIbHBIX 3aJaHMi

1. TectupoBaHue

1.

Bomnpocsr:
Paznea 1.

Classify each of the following components as passive or active: resistor; bipolar transistor; capacitor; battery;
transformer; field-effect transistor; inductor. Draw its symbols.

2. Draw the sinusoidal signal. What is the amplitude if it is known that Vrys equals 220 V? How can we calculate the
average voltage?

3. What is the frequency of a signal if the period is equal to 1 ms.

4.  What does the term “phase difference” mean? Explain it with the help of waveforms.

5. Write the expression for Ohm’s law.

6. Kirchhoff’s current law and Kirchhoff’s voltage law. Explain them by using a simple circuit.

7. Write the relationship between the current flowing through and the voltage across the inductor.

8. Three fixed resistors are connected in parallel. Calculate the total equivalent resistance Ryp of the parallel circuit.

9. Resistors R1 and R2 are connected in series to input direct voltage source. If the input voltage is 15V, and the resistance
R1 =2-R2, what is the voltage across the resistor R2?

10. Time constant. What does it mean? Find time constant for CR- and LR-circuit.

11. Give the circuit of CR low-pass filter and its frequency response.

12. Draw and explain V-I characteristics of a PN junction diode.

13. Explain the abbreviations: FET, BJT, KVL, KCL.

Test#2

Please, choose one variant as an answer for each question:

1. ADC voltage
A) rises and falls
B) is a sinewave
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C) remains constant
D) is an audio waveform

2. ImA is equal to:
A) 0.001A

B) 0.00001A

C) 0.01A

D) 0.1A

3. If a 10k resistor is placed across a 10v supply, the current will be:
A) 10mA

B) ImA

C) 0.0lmA

D) 0.1mA

4. If a small value of capacitance is connected in parallel with a large value, the combined capacitance will be:
A) The same

B) Higher

C) Lower

5. A 10k resistor in parallel with 10k produces:
A) 10k

B) 5k

C) 20k

D) Cannot be determined

Two 3v batteries are connected as shown. The output voltage is:
A) 3v

+ +
o [—IFEH—
O) 6v v v
7. The closest value for this combination is:
A) 4k7 o
B) 2k3
[ 1
C) %4 m
[ 1
8. To obtain a higher value of resistance, resistors are connected in:
A) Reverse

B) Forward
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C) Parallel
D) Series

9. The direction of conduction for a diode is:

A

—— = |}

—= == == |c
A B C

10. Name three terminals of a bipolar junction transistor
A) Collector Bias Omitter

B) Base Collector Case

C) Emitter Collector Bias

D) Collector Base Emitter

Pa3znea 2.

1.  What does the term ‘operational amplifier’ mean?

2. What general properties of op amp do you know?

3. Draw the amplitude curve of an op amp. How can we calculate the open-loop voltage gain?

4.  What will be the output voltage swing if the voltage drop in the components of the op amp output circuits is 1 volt for
+15-V supply?

5. Draw the equivalent circuit of an op amp.

6. The op amp has an input resistance r;,, =990 kQ2, has a voltage gain A of 1000, and an output resistance r,,, = 100 Q. If
the amplitude of the e.m.f. (electromotive force) of the sinusoidal source, Vg, is 2mV, and the source resistance
Rg =10 kQ, what is the amplitude of the voltage V, across the load resistance R, = 1 kQ?

Pa3znea 3.

1. Explain the difference between analog and digital signal.

2. Draw the symbols of elementary logic gates.

3. Show how a power source, a lamp and a number of switches can be used to represent the following logical functions: a)
L=A-B-C;b)L=A+B+C;c)L=(A-B)+(C-D);d)L=A @D B.

4. Sketch the truth table of a three-input NAND gate.

5. Sketch the truth table of a three-input NOR gate.

6. What symbols are used in Boolean algebra to represent the functions AND, OR, NOT and Exclusive OR?

7. Write the function of a three-input NOR gate as a Boolean expression.

8. What is the difference between combination and sequential logic?

9. Convert the following binary numbers into decimal: 1100, 110001, 10111.
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10.
11.

12.

13.

14.

Convert the following decimal numbers into binary: 56, 132, 67, 5.625.
A single-input trigger that goes into the opposite state with each pulse is called a flip-flop:
a) D —trigger b)RS —trigger c)T —trigger d)JK — trigger
Which gate only has an output of 1 if both inputs are 1?

a) AND b)OR c¢)NOR d) NAND

What main elements does the structure scheme of ADC consist of?

a) Comparator, Approximation Register, Sample/Hold

b) Approximation Register, Trigger, Encoder

c) Approximation Register, Trigger, Encoder

d) Comparator, Counter, Trigger

What is the initial state of the trigger?

a) 1

b) 0

¢) Undefined andis a random variable

d) Depends on current potentials and applied logic

Paznea 4.

1.

The branch of medicine that deals with the provision and use of artificial devices such as splints and braces is
a) prosthetics

b) orthotics

¢) laproscopic

d) augmentative communication

The frequency range of ECG is _
a) 0.05-150 HZ

b) 500-1500 Hz

¢) 5-500 kHz

d) 0.5-150 MHz

The main design feature of pregelled disposable electrodes which helps to reduce the possibility of artefacts, drift and
baseline wandering is _____

a) low absorbency buffer layer with isotonic electrolyte

b) high absorbency buffer layer with isotonic electrolyte

¢) high absorbency buffer layer without isotonic electrolyte

d) low absorbency buffer layer without isotonic electrolyte
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4. Recording electrical activities associated with heart is known as
a) EEG
b) EOG
c) EMG
d) ECG

5. Before placing the electrodes the skin should be
a) wet
b) dry
¢) hairy
d) oily

6. Blood cell counters, operating on the principle of conductivity change, which occurs each time a cell passes through an
orifice, are generally known as
a) optical method
b) electrical conductivity
¢) coulter Counter
d) microscopic method

[Ipesenrtanus

TeMbl pe3eHTaluii:

Paznmea 1.

1. Signals

2. Fixed resistors vs. Variable resistors
3. Potentiometers

4.  Wire-wound resistors

5. Film resistors

6. SMT-resistors

7. Avalanche Diode and Tunnel Diode
8. Photodiode

9. Light Emitting Diode

10. Varicap Diode
11. Schottky Diode
12. Zener diode

Paznean 2.
1. Operational amplifier in electronics systemdesign
2. Summing amplifiers
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The differential amplifier
Instrumentation amplifier
Active filters

Square wave generator
Triangular wave generator
Crystal-controlled generator
. Sine wave oscillator

10. LC oscillator

11. Precision current sources
12. Adjustable Voltage References
13. Photocell Amplifiers

© NG AW

Pa3znea 3.

1. Algebraic simplification
2. Binary quantities and variables
3. Boolean algebra

4. Boolean algebraic manipulation
5. Combinational logic
6. Karnaugh maps

7. Logic gates

8. Logic families

9. Number systems and binary arithmetic
10. Numeric and alphabetic codes

Paznen 4.

1. Cardiac Engineering

2. Physiological Systems Modeling

3. Brain-Machine Interfaces

4. Perspectives on Neural Engineering

5. Wearable Biomedical Sensors

6. Biomedical and Health Informatics

7. Surgical Robotics

8. Novel Biomaterials Resonant converters

9. Genetic Engineering & Synthetic Biology
KoxTpombHas pabota Bomnpocsr:

Paznea 1.

1. Time constant. What does it mean? Find time constant for CR- and LR-circuit.
2. Give the circuit of CR low-pass filter and its frequency response. Explain the curve.
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N ok

9.

In a series RC circuit, 12 Vi) is measured across the resistor and 15 Vi) is measured across the capacitor. Find the
r.m.s source voltage.

A 20 kHz sinusoidal voltage is applied to a series RC circuit. What is the frequency of the voltage across the resistor?
The frequency of the voltage applied to a series RC circuit is decreased. How does the impedance of this circuit changed?
Draw the frequency response of a high-pass filter. Explain how to find the cut-off frequency.

An RC low-pass filter consists of a 110 Q resistor and a 0.002 pF capacitor. The output is taken across the capacitor.
How can we find the circuit’s cut-off frequency?

An RC high-pass filter consists of an 8.2 kQ resistor. What is the value of C so that impedance X is ten times less than R
at an input frequency of 12 kHz?

A sinusoidal voltage with a peak-to-peak value of 36V is applied to an RC low-pass filter. If the reactance at the input
frequency is zero, what is the output voltage?

10. What is the difference between Pass Band and Stop Band?

Pazngen 2.
1. Design the adjusted gain inverting amplifier. Determine the output voltage range.
2. Design the two-input inverting adder. Derive an expression for the output voltage in terms of the feedback resistances
and input voltage.
3. What does the term ‘weighting’ mean when applied to an adder?
4. Design a three-input inverting adder. Choose components to get V. =-3-V, —10-V, =V, if R, =33kQ. Suggest a
suitable value of the resistor that is series connected to the op-amp noninverting input.
5. Problem 1:
Given:
R, = 10kQ
R1 R4
R, = 20xkQ2
Z — 11—
. Ry = 7.5kQ
R2 > R4 = 100xQ2
2oy ld ] Vi=01v
3 o Vo=-0.1V
R3 Vout Find:
VOUT’ IOUf
o o
€L
6. How are the feedback resistors determined for an adder? Draw the diagrams for the explanation of the principle of

operation of the inverting adder.

Paznen 3.
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—_—

Explain the difference between analog and digital signal.
Show that the two circuits (a) and (b) below are equivalent by drawing truth tables for each circuit.

c T
=

(a) (b)
Use Karnaugh maps to obtain minimised Boolean expressions for the following functions

X=AB+ ABC+ ABC + ABC
Y=ABC+ ABCD + ACD+ ACD+ ABCD

A

Use a Karnaugh map to obtain a minimized Boolean expression for the function described by the following truth table.
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R
-
)
=)
N

— e e e e e e e O o o o o e

Lo T T e R . i e B B B T e e R - Y
—_— o o b b o e e b o o ek ek e
L = B R TR T e B e T e
O = DD — O o= O D

5. Explain the distinction between combinational and sequential logic.
6. Inan S-R bistable formed using two NOR gates, are the inputs active high or active low?

Paznean 4.

1.  Whatphysiological signals can be measured with a smart watch or with a fitness monitoring device? Where are the
signals stored, and how can your privacy be protected?

List some advantages of computer modeling of physiological systems

List modern methods and devices used for visualization of human organs.

How to get a clear image of a moving target (cardiac imaging)?

What technical devices help in the treatment of cardiovascular diseases?

AR

PaboTa B MasbIxX rpymmax

Task 1. Rectifiers
Description:
Students are randomly divided into 6 groups with the help of cards on which the function of the group (role) is
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written. Each group has 5-7 minutes to be prepared to play its role in a game. After that game starts.

Roles:

Role 1.Give the circuit of bridge rectifier. Make notes on connection of elements in a circuit.

Role 2. Draw the diagrams of voltage drops across all elements of the rectifier. Give comments on the diagrams
shapes and time intervals.

Role 3: Write Voltage Kirchhoff’s law for one loop of the circuit. Specify it for different time intervals.

Role 4. Explain principle of operation of bridge rectifiers using materials presented by previous reporters.

Role 5. Compose three questions ortasks for given circuit.

Role 6. Answer the questions prepared by Group 5.

Problem #1. Power Semiconductor Devices: Abbreviations and Symbols.
Fill in the Table 1 using the given meanings. Draw the symbol of power semiconductor devices and translate the device name

into Russian.

Table 1.
Ne Abbreviation Hectronic Name Meaning Russian Translation
symbol

L. Diode

2. LED

3. BJT

4. MOSFET

5. IGBT

6. SCR

7. GTO

8. SIT

9. SITH

10. TRIAC

11. DIAC
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12. MCT

13. RCT

14. LASCR

(LTT)
15. BOD
# Meanings

L A semiconductor device that acts as a one-way valve for electrical current

2. A diode that conducts electrical current only after its breakover voltage has been reached momentarily.

3. A silicon controlled rectifier that conducts when the gate is exposed to light. The gate still operates as a normal
gate in a SCR, but is in many cases left disconnected.

4. A type of FET, most commonly fabricated by the controlled oxidation of silicon. The main advantage is that it
requires almost no input current to control theload current.

5. A special type of thyristor. It can be turned on by a gate signal, and can also be turned off by a gate signal of
negative polarity.

6. A type of transistorthat uses both electron and hole charge carriers. The basic function is to amplify current.

7. A three-terminal power semiconductordevice primarily used as an electronic switch that, as it was developed,
came to combine high efficiency and fast switching.

8. A three terminal electronic component that conducts current in either direction when triggered.

9. A semiconductor light source that emits light when current flows through it

10. A four-layer solid-state current-controlling device.

11. A thyristor with an integrated reverse diode, so it is not capable of reverse blocking. These devices are
advantageous where a reverse or freewheel diode must be used.

12. A gateless thyristor triggered by avalanche current

13. A high power, high frequency transistordevice. It is a vertical structure device with short multichannel.

14. A thyristor with a buried gate structure in which the gate electrodes are placed in n-base region.

15. A voltage-controlled fully controllable thyristor. It is similar in operation to GTO thyristors, but have voltage

controlled insulated gates.

5. MeToauyeckue yKa3aHus 10 Npoueaype oueHUBAHUS



http://en.wikipedia.org/wiki/Reverse_conducting_thyristor
http://en.wikipedia.org/wiki/LTT
http://en.wikipedia.org/wiki/Avalanche_diode

OneHoYHbIe Meponpus TUs

Hpouez(ypa MpoBE€/ICHUA OLICHOYHOI'0O MEPONpUATUH U HEe00X0AMMBbIe MeTOANYECKHE YKazanusi

TectupoBanue TectupoBanue npoBoauTcs oHNaiH. Tect pazpaboTtan ¢ mpuMeHeHueM Tyri-gopm. Bpems nposenenns — 1 gac. Ilens —
IpoBepKa yCBOCHUsI y4eOHOTO MaTepHana o mpoiiieHHoi TeMe. OLeHNBaHUE MPOU3BOAUTCS IPETIOAaBaTeNIeM Ha
OCHOBaHMHU 0aJUTbHO-PEHTHHIOBOM CHUCTEMBI OLICHUBAHUS PE3yJIbTATOB.

[IpesenTtanus BricTymienue ¢ mpeseHTanuei o oAHON U3 MpeaIoKeHHBIX TeM MPOBOAUTCS B paMKaxX MEpONPUSTUH KOH(epeHI-He eI .

Ilo 3aBepleHUY NPE3CHTALMU CIyLIATEM MOTYT 3aaBaTh BOIPOCHI BEICTYIIAIOIIEMY, a TAKXKE IPUHUMATh y4acTHE B
OILICHMBaHMY JOKIaga. ToroBble Oaiuibl BHICTABIAIOTCS IPETIOAABATENIEM B COOTBETCTBHU C Pa3pa0do TAHHBIM PEHTHHT-

IJIJAHOM JUCIUIIIIMHBI.

KonTposnbhas pabota

KoHTponbHas paboTa mpoBoaUTCS MUCHMEHHO. Bpems mpoenenus — 1 gac. Ilenp — mpoBepka ycBoeHHUs y4eOHOTO
MaTtepHaa 1o npoiaeHHoH TeMe. KOHTpomb ocymiecTBIseTcs PEeryIsipHO Ha MPOTDKEHUH ceMecTpa. OneHuBaHme
MIPOU3BOJMTCS MPEroaBaTesieM Ha OCHOBAaHUM OaJUTbHO -PEHTHHTOBON CHCTEMBI OIICHUBAHUS PE3YJIbTATOB.

Pabora B MasbIX rpymmax

CTyAeHTBI MIPOU3BOJILHO JEISITCS HA TPYMIBI Mo 2-3 4yesoBeka. C MOMOIIBIO KapTOUeK onpenensercss @yHKIHs (POJib)
rpymnmbl. Y KaKI0W MPYIbl €CTh 5-7 MUHYT, 4TOOBI MOJATOTOBUTLCSA K cBoeil posm. ITocie 3Toro HaunHaeTes: paboTa.
OneHrBaHUE MPOU3BOJUTCS MPENoJaBaTesieM, BO3MOKHO B3aUMHOE OLICHUBAaHUE MEXAY TPyIIaMu.




